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Note- Attempt lir,e qLreslions in all, selecting n01 mo|c thatl tr.,o qLtestions from each Group' All

questions carrv eqr-tal t-tlarks' 
Group_l

i. \\'ha: clo \rlit !r,erltl t'rY i'rirancial lnallagemelli? What are iis oL-''l tctires? Examine the natr-tre and

scope oi,-tnair : l'll lll :lllllljelrlent'

]. \\hat do r.lil lnear-i b, capital rtlai.liets? \\ ilat arc tirc dit.tlr.erlt jtlstruments of capital rnarket?

Explain their ri'l' r'cIr.lr!l cltalactcristics'

3. An investor purchased a share of a company for Rs' 80' FIe held this stock for 5 years' He

received a dividend of Rs. 8, Rs. 10, Rs. 6. Rs. 7 , andRs' 8, at the end of f,trst' second' third' fourth

and tltth \eor rc:pcCliveir. \t til.'illi tri t-lltl-r ';ar hi: solclthis share for Rs' 105'

cornpute th.'r.ate ol tetllrn earnc-d'nr thc inrest"l'on the inl'estmettt in the share'

G rou p-[l

4. A choice is. be rrlije betwec. i\\:() cop-lfr-l , r pr.]ccts rilriclr require an equal investment of

Rs.5,50.000 atrii l-Lc exDectecl to {enerate ncL i-sll tiows l't:l under:

End ot'\ eal' i

End trt'., :ii'l

End ot'.' i:ar i
E;lJ i-.i",'l:ai';1

End ci.eai' i

End ot rcar'6

Project 1 Project 2

I{s Rs.

1. 75.001 1. 30.000

I " +5.00i I i6 [t(;ir

i -l(r.0lll' I . jJ.r " '' r

l.lil 1. 75,00(t

1. .16.00t; i. l.-l.OtJrt

f.i8.000 lll-00i)

Thecosttli.capitalof.tirccomparly.isl0llercerrt.(iorlpr-ltetheNPVsofthetwoprojectsand
udti;; wnicf, o1'tjie nvo pr:o.iect shor'ricl be accepted I

ilea'nLl1,r'r,orkingcapitalmani]gcm.llt.]Erarniiretirefactorsaffectingworking

6. What are thc objectives oI'inventoLv n13n3$crlrellt'?

inventorY mtllr a gelnent "

i-xplain tlrc clitfcrent operative functions of

5" What do Y'oti

capital needs.

C**t t -:L
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7. what do your rnean by optimal capital structr-r.e'/ L.rplain thc clil'ltre,t factor affecting the capital

structure decision of a finl'

8.FromthefbilolvirrgcapitalstruCturcofAmbol-aCasSLrppliersLimited,calculateoverallcostof

capital using /rr; book value n"eisht arld rhl nrrtket valtte ueiqhts'

Retained earnings l' 20'000

SL.L, t c.

EqLritr >lrlie ci.Piial

Preference caPital

Debentures

Book value

4,50,000

75,000

l. 80,000

\larket Value

13. 50.000

80,000

1. 75.000

The att:;-t,t\!-,it,si i)i'rjl1-Iefa:lI iOlil'aes oil': :lit.:i ls lls lcilrl\"::

Equit. .ri..:l'e cap.,ital l .t,o: ...1i]l;]et] ealili]l!: 11,i, . pi.eler'elii]e e spital 10% and debentures 60%

g. \\,hat do rou tre.air br, col?ol'ale festructLil'illgl \\ hat -'li'e thc different forms of corporate

restructuring'? What irre the issltes ilr corporate re-stt'''tcturins'J
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